Ptiloha €. 2: Evidencni tabulka mistnich komunikaci IV. tFidy
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1d | 1 | Upicka 20 |P k silnici 121 dlazdény 227/1
. I % s 186/23,

1d | 2 | Upicka 3 [P k silnici 12| 1 dlazdény 1,8m 300/1, 227/1

1d | 3 | Upicka 43 |P k silnici 12| 1 dlazdény 399/1

1d | 4 | Upicka 45 |P k silnici 12| 1 dlazdény 399/1

1d | 5 | Upicka 57 |P| ksilnici [1,5| 1 | dlazdény 399/1
e S iy yx st. 7711,

1d | 6 | Upicka 42 | P k silnici 12| 1 dlazdény 399/1

1d | 7 | Upicka 31 |P k silnici 12| 1 dlazdény 399/1

1d | 8 | Upicka 129 |P k silnici 12| 1 dlazdény 399/1

1d | 9 | Upicka 22 |P k silnici 16| 2 diazdény 399/1

2d | 1 | Upicka 30 |P k silnici 15| 2 diazdény 691 399/1

2d | 2 | Upicka 11 |P| samostatné |1,9| 3 | dlazdény 289/1

2d | 3 | Upicka 33 |P| ksinici [1,5| 2 | dlazdény 691

2d | 4 | Upicka 36 |P k silnici 15| 2 dlazdény 691

2d | 5 | Upicka 63 |P| ksilnici |1,5]| 2 | dlazdény 691

2d | 6 | Upicka 13 |P| samostatné [3,1| 2 dlazdény 709, 691 705

2d | 7 | Upicka 54 |P| samostatné |1,5| 2 | dlazdény 709, st. 78/3

2d | 8 | Upicka 20 | P | samostatné |2,1| 2 dlazdény 699, 691

2d | 9 | Upicka 21 |P k silnici 15| 2 diazdény 691 481/1, 481/5

2d | 10 | Nadrazni 79 |P k silnici 19| 2 dlazdény 481/1, 413/2

3d Nadrazni 15 |P k silnici 18| 2 dlazdény 481/1, 413/2

3d | 2 | Nadrazni 159 |P k silnici 27| 2 dlazdény 692
s oo ik CH: proménliva

4d Nadrazni 86 |P k silnici 19| 2 dlazdény Sitka 1,3-15-1.7 693

5d 9. kvétna 15 |P| samostatné [2,5| 2 kostky 381, st. 43/2
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9. kvétna
6d / Pod 62 |P | samostatné |1,2| 3 Ziviény 328/2, 360, 405/1 326
Kyselkou
Na . -
7d Vyhlidku 39 |P| samostatné [1,1| 3 | nezpevnény 391/1, 393/3
8d | 1|, 1" 48 |P| samostatng |2,1| 2 | Petonow/ 179/1
listopadu Stérkovy
8d | 2 |, 17. 28 |P| samostatné |1,9| 2 Ziviény 179/1
listopadu
9d 17 57 |P| samostatng |2,5| 3 | "éZPevneny CH: schody 387 4131
listopadu / Stérkovy




